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1. At e dSiat snafa Froren Tere T SiTEE g Jhare ST Ho A 7

snfmr shiHES HRyfRt
ST FHIATE gfA
sty Wra-gw At FEe
I W-ghiS Fve

Recently which of the following has been established on the European Union style by
the ASEAN ?

(1)
2)
(3)
@

ASEAN Economic Community
ASEAN Economic Unien
ASEAN Socio-Economic Community

ASEAN Socio-Economic Council

2. WORYH wUR faur atet o ?

(4)

TEhd g A gfedt ARSIy 3R,

qifies & AT GOt iy T TR,

TR TR 2008 T8 Hare 3701 I A1 WIS SIS oy g S e,
2015 WEA TS Wl dEie sifuTa s g9 AU 3T 3TIR,

Which one of the following statements is correct ?

(1)
(2)
(3)

(4)

Sanskrit is the first classical language of India.
Tamil is the second classical language of India.

The government of India declared Kannada and Telugu in 2008 as the classical
languages of India.

In 2015, Marathi was also given the status of classical language.
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3. Sfaes 3TRTE el (WHO) e Wiaiess! vk /wivrd faum,/ faur afer sme/ona?

(@) YAF vl 7 ufye 7 faw anifde g @eei=n YEIsaEe! s R 23
U €10 3 S

(b) SR AT YR M AN AT R A steyHn a1 SRR i SO o,
(c) WMIEE IR ooy qeaer <[aih W .

At 6

Y 2 ® @) (© 4 wdowd

Which one of the following statements about the World Health Organization (WHO)
is/are correct ?

(a) The World Health Day is celebrated every year on the 7" April under the sponsorship
of the WHO.

{b) The WHO is focusing this year’s World Health Day on Asthama.

{c) The headquarters of WHO is in New York.

Answer options :

® @ 2 ® ® © (4) Al the above

4. 5 Ted 2015 ¥ W WirTfers &1 fsa (World Soil Day) =9 HISHI &en 1. 2015 =41 &1
feamm e @

(1) HiEeH o1 OIS TS BROEE  (2)  Wiied W W OEE
(3) Witew A AfHe WK oEw (4) N oEE fagre diEe

The World Scil Day (WSD) was observed on 5% December 2015 across the world. The
theme of the 2015 WSD was

(1) Soils a solid ground for life (2) Soils must for life
(3) Soils a nourishment for life {(4) No life without soils

5.  EEeuE SR HawEd - ?

(1) T @ (2 ¥ @

(3) ={a Aored ¢ =

Which one of the following is not a Biofertilizer ?

(1) Bacterial fertilizer (2) Algal fertilizer
(3) Green manure {4) All of the above

Hel S WM /SPACE FOR ROUGH WORK
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6. = witearar ot wroe ' snfimm TRRgaaR Sistehe dha’ (ALLB) Wl W ufee
YO 9 hivT ?
1) 3IF (2) W (3) A (4) =&
Which is the first western country to join the China backed - Asian Infrastructure
Investment Bank (AIIB) ?
(1) UK. (2) France (3) Germany (4) Italy
7. 2016-17 =N @Y THEET TR fRur stemyE fendt (MSP) Sied Sirear o,

510 e ferumT amaroga fermdt
(a) =0 (Held) i) T 2600
(b) S ) ¥ 1625
(c) HrEA (i) T 1330
d) Hdoe C (v) 74220
(e) VT (v) ¥ 3950
it 3

@ () () (d (e
1) @ @ @ ) W
2 @ @ @ o ©
G @ @ @ @) @
@ @ @ @ © W
Match the pairs about the Minimum Support Prices (MSP) of the Kharif season 2016-17.

Grain Revised MSP
{a) Jowar (Hybrid) (i) T 2600
(b) Millet (i) T 1625
(c) Soyabean (i) ¥ 1330
(d) Sunflower (iv) T 4220
(¢) Groundnut (vy T 3950

Answer options :

@ (b} () (4 (e)
L O @ G & @)
(2 @ @) @ @) )
¢ 0 @ @ @ )
4 @ @@ @ © (@)
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§. ity grEmeeR gl wIvd weaune fofed amed ?

(a) wom () s (c) fagye® () @md
i S

(1) %R (), (), @ (2) R (), (), (@)

(3) () (o), (@) (4) HHF (@), (). (©

Which collection of poetry is written by Mangesh Padgaonkar ?

{a) Salam (b} Utsav {c}) Vidushak (d} lagori
Answer options :

(1} Only (a), (b), (d) (2)  Only (a), (v), (d)

(3} Only (b), (o). (&) {4} Only (a). (b), ()

9. 88 d EHt TRAMNF (2016) AT wHtGIHl R FET ST MR ?

(1) FesirEl feamfyd - g Afyad (w9 Wk

2y 0 o - alepwe fust fg e @ ardl

(3) G FRfe - wetepw Fve e’ ged

(4) T Yoy - HEHR HerEs At e sie ws’ |6t

Which one of the following pairs about the 88th Oscar Awards (2016) is correct ?

(1) Leonardo Dicaprio - Best Actor for ‘Room’

{2) Brie Larson - Best Actress for “The Danish Girl’

(3) Alejandro Inarvita - Best Director for ‘Spotlight’

(4) Mark Rylance - Best Supporting Actor for “Bridge of spies’

e SHTATATE! HFT /SPACE FOR ROUGH WORK
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10. T faum faamd s .

(a) Tomdl sierd or o= wigen ufger e e,

by TomRe vewd o1 Jue FERe qereq A e,

(c) Toenast Wi @i ar sie Ham 15 BUH HE Foo AR,

FOwUs! ST AU FUat 3Rq ?
1) (a) 37T (b) (2)  (a) 3 ()
(3) (b) 20 () 4) (a), (b) 3 (c)

Consider the following statements :

(a)  Vidya Devi Bhandari is the First female President of Nepal.

(b) Vidya Devi Bhandari was the Chairman of the Communist Party of Nepal.
(c) Vidya Devi Bhandari previously served as the Minister of Defence.

Which of the statements given above are correct ?

(1) (2 and (5 @ () and (0

(3) (B and () @) (@) () and ()

11. T GHGIH! FIOW I WHar UfEs ST g9 el 590 3R ?
) e @ @) FTE @ fme

Which of the following cities has become the first Kerosene free city of India recently ?
(1) Chandigarh (2) Mumbai (3} Bengaluru (4) Shimla

12. ‘SIWIdE G EarS - 2016 TAR SMIdTe Hallysh TS <3 0w ?

(1) wteA 2) THEH @) faeds (4) oA
According to the “World Happiness Report 2016", which is the happiest country in the
World ?

(1) Sweden (2) Denmark (3) Switzerland (4) Bhutan
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13. UF 2rE s S gdm araen 318y Sce RO SRR Al e
R ?

(1y 97 d (2) 98l (3) 994l (4) 10091

Which amendment has become unconstitutional as the National Judicial Appointments
Commussion has been invalidated by the Supreme Court ?

(1) 97t (2) 98t (3) 99t 4) 100t

14. ‘@R = O e W AITH] ST heg g TS F0GR SUeRs e 2
(1) @ (2) wIEATY (3) I feweh (4) FHER

Where has the council of SAARC Mintsters decided to establish the SAARC Disaster
Management Centre ?

(1}  Dhaka (2)  Kathmandu (3) New Delhi (4} Colomnbo

15. SIMfGF =4 @9 (GTF) it smfas g=reitg 4 (WWE) 01 S@aerar ST Siom 39
Taifos eara e yufad 2

(1) = 2) cfw afee (3) sERfEm (4) =

According to the report of the Global Tiger Forum (GTF) and the World Wildlife Fund
(WWFE), which country boasts of the highest population of tigers in the world ?

(1) India (2) South Africa (3)  Indonesia (4) Russia

16. awie ufed afeer yerssh S vsar g ?
(1) 3R (2) foer (3) wHETg (4) ST W

Which Indian State had the first wornan Chief Minister ?

(1) Orissn (2) Bihar (3} Tamul Nadu (4) Uttar Pradesh

wHegT TS AT /SPACE FOR ROUGH WORK
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17. @eie fayan faame =0 ;

(a) ‘TSA R, TE ANURE A GQ1 anieasn qei ded 9 gedrd fran e 7w gonm
T A,

(b) ‘SNSRIl TH fohan wros e A ATITH] ST STeal Iedr T el JuiaTEd
¥ iere auiTda fasonst ot Iues FE 0§ T ged ®aed I,

(c) 'T°4 T JIodia 99 Hel 9UR SETd id Higd Sl st @ien fammeEt aie
Fe' T AN v o7,

ST Fo T T ST ?
(1) () 3T (b) (2) (b} 300 () 3) (a) 3 () (4) who wd

Consider the following statements :

(a) ‘The state shall provide free and compulsory education to all the children of the age
of six to fourteen years’ is their Fundamental right.

(b) ‘The one who is a parent or a guardian should provide opportunities for education
to his child or a ward between the age of six and fourteen years’ is his Fundamental

duty.

() ‘The state shall endeavour to provide early childhood care and education for all the
children until they complete the age of six years’ is a Directive principle.

Which of the statements given above are correct ?

(1) (a) and (b) (2) (b} and (c) (3) (a) and (0) (4)  All the above

18. Hiaum Tudie Jovd sae il sredee afifd= s S Bn ?
(1) 3 L3R Al (2) SLET. FHSH
(3) WER TTOWE 1B (4) SIOTEDTS AE®

Who was the chairman of the committee on Fundamental Rights and Minorities in the
Constituent Assembly ?

(1) Dr. B.R. Ambedkar (2) J.B. Kripalani
(3) Sardar Vallabhabhai Patel (4) Jawaharlal Nehru
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19. WIS HIv foaa Tenter AT ?

(a) WERN A= S YA 26 SHE 1950 st @ cariak wig 1 5 1987 & e
30® Wl FEdl HRE AR HE.

(b) TEREN FHE TH YR 1 I 1987 T fhan @ricR FeT 316 T SR faean ST
F3 foem emsafeoist HVIE Th YO AT odle @ @ =& yKdg i
T,

(c) e T =l fown YR T @ ST T O i Tl S9E gy

R A SEie 6y 4,
waiet 3T :
1) () (2) (®)
3 © (4) Tl THe R

Which one of the following statements is incorrect ?

(a) A person born in India on or after 26% Jan. 1950 but before 1%t July 1987 is a citizen
of India.

(b) A person born in India on or after 1*! July 1987 is considered a citizen of India if
either of his parents is a citizen of India at the time of his birth.

{c) When a person renounces his Indian Citizenship, every minor child of that person
also loses Indian citizenship.

Answer options :
1) () 2 ®

3 (9 (4) None of the above

el RETHIS AP /SPACE FOR ROUGH WORK
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20. EES TAne faur Tiug o IrEEiaE | %% .
(1-)‘ Tt 2) T
(3) o vfEees (4) =3 faumEs

The pérljament can abolish a Legislative Council on the recommendations of
(1) The President (2) The Governor

(3) State Council of Ministers (4) State Legislative Assembly

21, 1947 = YRAW Wra4 FEem Sadm 9= ©AHE 920 e a1 Faem 9evid Eeteist
Y faUm SUeL AT ?

(1) ¥ i grEm gwn I,

(2) 9 T fSfursares dem g

(3) AN THU HE& Yt 1946 A Teifa gEa g,

(4) HieH ST AN ARAEE! SRS Hiaar Guqd TER Sad,

The Indian Independence Act of 1947 made changes in the position of the Constituent
Assembly. Which of the following is not correct with respect to this Act ?

(1) The Assembly was made a fully sovereign body.
(2) The Assembly also became a Legislative body.
{3}  The total strength of the Assembly went up from the earlier planned in 1946.

(4) The Muslim League members withdrew from the Constituent Assembly of India.

HEAT S 9T /SPACE FOR ROUGH WORK
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22. 'HEENYE® FAEA (Equality before Law) & 99 if sy A&t @eedia Hearaa onfuy 3=
AYATE HRT. WOOUR! BV T 14 T IS 377 ?

(a) WRAT TETAr Mo UeadTe i S fasiy g5 aTed.

(b) HEE Fewg nfon weEre fadeer wew arenfats i dHed sua T fadieaa
F e UHUTEES IR AT o arofawl 344 ATl

(¢) TSN gF M TSR T wiveR ST fodie g9 ARle @ ha@ (Gari Seemsd
=,

(d) AT=% 31-C T TS 14 & AR L.

Ty 39T :
(1) (a) (b) 3T () (2) (), () = (d)
3) (@) (), (c) 3 (d) 4) (a) (b) 3T (d)

The Rule of ‘Equality before Law’ is not absolute and there are constitutional and other
exceptions to it. Which of the following is/are the exceptions to the Article 14 ?

(a) The President of India and the Governors of states enjoy some immunities.

(p) No Member of Parliament and State Legislature shall be liable to any proceedings in
any court in respect of anything said in Parliament on State Legislature.

(c) The foreign ambassadors and diplomates enjoy immunity from civil proceedings
and not from criminal proceedings.

(d) Article 31-C is an exception to Article 14.
Answer options :
1) {a) (b) and (c) (2)  (b), () and (d)

(3) (@), (b) (c) and (d) 4) (a), (b) and (d)

oA AT AT /SPACE FOR ROUGH WORK
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23. TR AT A VTR T4 58 Fo 60 5 o Rl .
() A anfi B vaTdle st
(2) ‘C WS MEERE Gdh
(3) ‘A JaTidie dusE Afterd
(4) ‘A FEMGS THETd
The Maharashtra government has increased the retirement age from 58 to 60 years of
El_)-_-‘j’-\’ aer ‘B’ category officers
(2) ‘T category civil servants
(3) ‘A’ category medical officers
(4) A’ category officers

24, ‘HRIE [T 9w | Tun fewa =
(a) AR (Ao wus fafiieam wow SR ST R ST T e
Ffet ST TeArHSdl TUYS TEvardl Yated <aeardl AfuaT,
(b) Wmmwaﬂﬁmﬁmmaﬂétwwﬁ%w
FAfaerRa 3k .

{c) ‘Eﬂ'q%ﬂ":'l e e ggdt’ (procedure established by law) Q&1 ‘=T 979 9gd’
(Due process o_f law) ® @ Haed mEedrd] S Hoqd T WOTEE! AfuE

| Fefas.
Fhei! A/ faumE/q 'Et Je/T?
(1) - ¥ (a) (2) T (a) ST (b)
(3) wlowd . (4) OS] TwE T

Consider the following statements about the ‘Judicial Review” :

(a) Judicial Review means the power of the Supreme Court to examine the
constitutionality of legislative law or executive order of both the central and state
govermments.

(b) The objective of the Judicial Review is to maintain federal equilibrium and uphold
the principle of the supremacy of the constitution.

() The principle of the “due process of law’ more than the *procedure established by
law’ gives wider scope to the Supreme Court in protecting the rights of citizens.

Which of the above statements is/are correct ?
(1) Only (a) (2) Only (a) and (b)
(3) All of the above (4) None of the above

FHoAT HIWTEE! J /SPACE FOR ROUGH WORK
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25,

26.

14 ' A

'R ¥ G IR A WIESE! B0 G YR 39 G 7

(1) W oy ) [5TE FERHED

3) zmaﬁa% wates (4) e e

Which of the following principles does not support that ‘India is a federal state” ?
(1)  Single Constitution (2)  Bicameralism

(3) Supremacy of the Constitution (4) Judicial Review

_ A i el i 9y O dd gaal ®E hidiEl Y
Y W 3G A9 99 o ST

(1) Fae= = gt (2) =@ TR fews
(3) THI U AR (4) Wfeg faamo Feex

relates in his autobiography how he and his brother recited revolutionary
‘Shlokas” with appropriate gestures in the Ganeshotsav,

(1) Vinayak D. Savarkar (2) Bal Gangadbar Tilak

(3) Damodar Hari Chaphekar (4) Narsinh Chintaman Kelkar

TSN hIATEIE W /SPACE FOR ROUGH WORK
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27. SIedl e
(a) Uerges ward (CCE
(v) whed AF-IO-&h (i) w=E
© 3w (i) TS
(d) 9™ THE TEUS FeIgt {iv) TR
it Iy

4 @ @ (v) ()

Match the following :

(a) Rahimatullah Sayant (i Bombay
(b) Maulavi Mazar-ul-Haq (i) Madras
{¢) A. Rasul (iii) Bengal

(d) Nawab Syed Mahomed Bahadur (iv) Bihar
Answer options :

(a) (b) (¢) (d)
1) vy () (@ ()

FeST HIREE WM /SPACE FOR ROUGH WORK
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28, YEie fadUan! IO a1 FHS JHF T SThRUA T S S FHIEITE AR
FE 0T ARt A gt 2
(1) sl (2) T
(3) PEE HaHl (4) UHIE MES
Who from amongst the following was a mechanical engineer to provide a blue-print of
ammunition and rifle factory to Krishnaji Prabhakar Khadilkar ?
(1) Damu Joshi (2) Rajarain Vaze
(3) Bhalchandra Ketkar {4) Ramchandra Gokhale
29, YEISUH! IV i Ao YRdR T@dadl U=l 3T i’ 91 9En R e
T BT 2
(1) 9gin i T
(2) T forrd 9
(3) o9 gudeT
4) TN GFTY 9eH
Who from amongst the following persons took active part in the activities of Indian
Independence Party in America under the name ‘Pirkhan’ ?
(1) Pandurang Sadashiv Khankhoje
(2) Ras Bihari Bose
(3) Lakshman Sukhanandan Sharma
(4) Gajanan Raghunath Pathak
30. SHAEE] TS MRAN agdsdh WATd Sodie ol o9 Alcard e

ISR =I1 YRIRE AT HE DI,

(1) SEHG

(2) TR 0w i

(3) YSIITE THANG e ==

(4)  FUdH S HEHTE

In many parts of India the hunger for land of the led to the destruction of
forests, depriving the tribals of their traditional means of livelihood.
(I) Money lenders

(2) Middlemen and petty officials

(3) Immigrant peasants from the plains

(4) European landlords

He _IWMTS SR /SPACE FOR ROUGH WORK
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31. ' Sl fdhvedey wEenH § faum S Sonldl fagiae TR 2

(1) e fRawa 9l (2) Thed FRETTE o
(3) o fedwer dard (4) 9l e Sewilthem
“Ontogeny recaptulates Phylogenv” is the statement of which evolutionary theory ?
- (1) Special creation theory {2) Haeckel’s Biogenic law
(3) Natural selection theory (4) Theory of catestrophism
32. fredtem IamETE Gedr mideygear WA _ Fien AT .
(a) TR fowam (b) faon favary
(c) TR AW fovam (dy wyFia fasam
it I
(1) () <M1 (d) Fer (2) (<) U (d) ek
(3) (a) W (b) FH (9 (@) O) (© = (d)
The beginning of the indigo revolt was made by the ryots of Govindpur under the leadership
of N
{a) Digambar Biswas (b) Bishnu Biswas
(¢) Shishir Kumar Biswas {d) Madhukant Biswas
Answer options :
(1) (a) and (d) only 2} {¢) and (d) only
(3)  (a) and (b) only (4) (), (b). () and (d)

33. TRIOYS! IR (AU FHd o7 ?
(@) <ol TER FT W F, ¢ g e, i guens @ 9 fave R, e e i
(b) UHUGIE SHFRE B,

i I :
(1) (a) =01 (b) FT= amea (2)  (a) 3TV (b) SRR TEG
(3) e (a) HIT L - (4) e (b) IR AR

Which of the following statements is wrong ?

{a) The Native Marriage Act was applicable to anvone who declared, “I amnot a Hindu,
not a Musalman, not a Christian”.

(b) Monogamy was obligatory.

Answer options :

(1) (a) and (b) are wrong (2} (a) and (b) are not wrong
(3) Only (a) is wrong (4)  Only (b) is wrong

THesdT THTATES! SR /SPACE FOR ROUGH WORK
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34. 'HIH AL U&H’ T LG HIOT HA ?

(1) Tl SEe (2)  Hiur Fqd e

(3) e BT (4) Tl SEERE SR

Who was the founder of ‘Samyukta Majoor Paksha’ ?

(1) Meghaji Lokhande (2) Shripad Amrut Dange

{3) Mahatma Phule (4) Dr. Babasaheb Ambedkar
35, Siedl o

(a) TeEHeR(g ferer () HISH-HHETR ey

(b) A (i) T FHETHRRG TR Ha

(c) o Foss (iii) HTTTRIAT FEHIAT e

@) T E. afee (iv) HRTIR Fg

it I :

@@ (b) (9 (9
1 @@ vy O @
@ v @ @
Gy @ @ @ )
(4) @ @ Gv) (i)
Match the following :

ot

{a) Middle-class women (i) Employer-Employee relationship

{b) Mr. Deshpar.de (i) Health services for women labourers
(c) Lady Nilkanth (iif) Visited the worker’s lines

(d) Mr. N.H. Vakil (iv) Labour legislation

Answer options :

@ ) © (@
O @ ™ 60 6
@ & @ @ 0
@) O @ @) G
@ @ O @ G

HTAl SIS I /SPACE FOR ROUGH WORK
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36. ___ ured VR e S HRifoeneaiis :REm wHiEu, gl qEe IusEATe
S SN IC TG
(1) T S (2) W\ TS
(3) O {dw (4) HA dET
In the words of , 'factories, rather than schools and colleges more effectively

give a new birth to the activities of the Nation'.

(1) G.V.Joshi (2)  M.G. Ranade
(3) Lokmanya Tilak 4) KT. Telang
37. S wRyE W @ faista g awn < #3512,
(1) R HEht (2) % HiE
(3) TEiEE 4) oA feaw
strongly believed that the one who dies for one’s own nation becomes immortal.
(1) Veer Savarkar (2) Joseph Mazzini
(3) Garibaldi (4) Lokmanya Tilak
38. THHEA WA AN Gegadal _ R SRISHr feaerdl WA Hd 3.
(1) < IR (2) vEEg 9
(3) TERE |9 (4) TR foEeni

used to conduct the weekly service of the Brahuno Samaj after the death of
Ram Mohan Roy.

{1) Devendranath Tagore {(2) Keshabchandra Sen

{3) Rajnarayan Bose (4) Ramchandra Vidyabagish
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39. YKo oEs 9 Il fgior eshi=n sied e :

(a) THRA GEHTH WIS (@) =

(by  oFa AT o (i) R HeHD
(©) a&qmwshsﬂ (i) S

(d) RS 9% (iv) N yar fag
Tt I

@ () (@ (@
1 @ ) @) @
2 @O @ @ (@)
Gy @ @ (@) (i)
@ ) @ @ @

Match the following authors and the plays written by them :

(a) Vasudeo Purushottam Sathe (i) Vanga Bhanga

(b) Ananta Vaman Barve (1) Swadeshichi Chalval
(c) Lakshman Narayan Joshi (i) Bhimrao

(d) Ismail Yusuf (iv) Maharana Pratap Singh

Answer options :

@ (b (9 (@
L O v @) (@)
@ © G @) @)
G) @ @ (v) (i)
@ @) @ @ o

ehoedl FIATETE WA /SPACE FOR ROUGH WORK
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40, e el
(a) Ticeid I8 (i) 1816 - 1832
(b) FryT= 38| (i) 1841
(c) WIaraT 33T (i) 1824
d) UrEwEe EREd 39| (iv) 1818 - 1831
afet Iae

(@ () (o (d)
1 O @ @) (@)
2 (v) @) @) @G
(@) () (@) @ ()
@ @ @ Gv) (i)
Match the following :

(a) Bhilla uprisings (i) 1816 - 1832
(b) Kittur uprising (i) 1841
{c) Satara uprising (i) 1824

(d) Revolts of the Chiefs of Saurashtra (iv) 1818 - 1831
Answer options :
@ B (o (@
DO @ G )
) ) @ @ 6
@ @ 6 @

(1) o (2) R (3) JHT (4) feom
Which of the following is not a tributary of Tapi ?
(1) Purna (2) Panzara (3) Dudhna (4) Girna

el THIATESH ST /SPACE FOR ROUGH WORK
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42, HiEa oM

(d)

wWa- A

fored ot
ELUEIIC]
T Q3T

BT

Uﬂf?fl'a?ﬂ':

(1)
()
@)
4)

Match the following :

(@)
b)
(©)
(@

@ ()
@) ()
@) ()
@ )
0 )

(iv)
(i)

Column - A

Bist Doab
Bari Doab

Rechna Deab

Chaj Doab

Answer options :

(1)
(2)
3)
(4)

@ )
@) G
@ @)
@ )
DR

(iv)
()

0
@)
(@)
)

@

@)

()

0

(@)
®
@)
i)
)

@

(@)

@

0

(@)

22

wWa-B
Tt o o Aamdie fer
ferTe 9 Yom Fumdie e
fasm 9 Tt TEme e

fazmg 9 gagw Famdte deq

Column - B
Plane between Ravi and Chinab rivers
Plane between Chinab and Jhelum rivers
Plane between Bias and Ravi rivers

Plane between Bias and Satluj rivers

el HWETS AN /SPACE FOR ROUGH WORK
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43. TOS HERISE THRIGS aF 999 W Hivl Rigamie auEr faawon gsifa ?

(1) TER 2) e @ W (4) 3R
Two Isothermal lines in the following map of Maharashtra show the distribution of
temperatures in which of the following months ?

(1) January (2) April (3 July {4) October

44, RAS T e SR I FH I

(a) TR (b) Tt (c) FHoT (d) T
it I

1) @, b)) (@) @ () @ @) ©

3) (), © (d), () @) © () (d) @

Arrange the following Indian rivers in the descending order of their lengths :

(a) Mahanadi (by Godavari {c) Krishna (d) Narmada
Answer options :

1) (@, ) ©. (d (2)  (b), (@), (d), ()

@3) (). (o) (d) @) (4} (), (b), (d). (a)

HoAT HIATHG! S /SPACE FOR ROUGH WORK
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45, Taon R g =1 AT e STae W g Sied ol

Column - B

Thane

Greater Mumbai

Raigad

Sangli

wWY-A wWY-B

(a) TSmO forrer wafd s AR @ om

(b) TS FHtEC! forsran wafa A A () &1 gH

(c) TREE JArifeh fasen wa s ar (i) TATE

(d) TESE F WSt faorn wafd wH AW (iv) T

Tt I
@ B () (@

M @ o0 v @

@ O @ @

®) @) @ (O @

@) @ @ @ o

Match the following as per the use of electricity for various sectors in the districts :

Column - A

(a) Largest per capita consumption of household (i)
electricity

(b) Largest per capita consumption of electricity for (i)
Agriculture

(c) Largest per capita consumption of electricity of (Lid)
Industry

{d) Lowest per capita consumption of electricity for (iv)
Agriculture

- Answer options :

(a)
(i)
()

(iv)
()

(b)

(d)
(i)
(iv)
(i)
(i)

- woedT STHTETES W /SPACE FOR ROUGH WORK
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46. mEMdte Tawian == 2011-2012 FHd SESEHT SAHER IGET FY 6T

(@) TIH (b) ¥ (c) d) T (e) digas
Wﬁ’i‘&?ﬁ‘:

1) (9. {a), (o), @) (e) @ (a) () (e) (b), ()

3 (@), (&) {c) (d), (b) (4) (&), (9, (d), (a), (b)

Arrange the following crops of Maharashtra as per their cultivated area in 2011-2012 in a
descending order :

(a) Cotton  (b) Sugarcane‘ {c) Jowar (d) Wheat {8) Rice
Answer options :

1) () @) ®) (d). (&) @ @@ (e (bl )

(@) (@) () (. (d) (b) 4 (&) ©) () (@) @)

47. WRAWIS GSIGUH! HI0Tra) AT - TIA0T HIIEH (Hgmr!) wa =l ?

(D (2) T (3) TSR (@) TwER
Which is the Indian city through which the North South corridor does not pass ?
(1) Jammu {2) Nagpur (3} Bijapur (4) Hyderabad

48. @ faurrar faem %3

() Taygd anftn Tefatel fwidl Taret afdl Wil U&F ORd SdS@inr gaia JiE AR
(Road in km/lakh population).

(b) W sufor Terw faeen= Wend ¥A@ ot 100 9w et gal afus s
{Road Density /100 km?).

ety o/ faur/fam s sy A 2

(1) ¥ (a) (2} W (b

(3)  (a) 3TN (b) T (4)  (a) STl (b) =TS

Consider the following statements :
(a) Road length per lakh population is highest in the Sindhudurg and Gadchiroli districts.
(b) Road density per 100 square kilometers is the highest in Nashik and Satara districts.

Which of the above statements is/are true ?

() () only @ @only
{3) Both (a) and (b) (4) Neither (a) nor (b)

el HIATEIST I /SPACE FOR ROUGH WORK
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49. wAleH WU HINA qd T AN AER HBEar,

(1) JmEd (2) FiwEER T4
(3) FoduE @) @i
In Karnataka State pre-monsoon rains are known as .
{1) Mango Showers (2) Coffee Blossom Showers
(3) Kalbaishakhi . (4) Andhi
50. e @ ;
dieh | WE
(a) A (@) HIEG N
(by = (i) wIAFET
€ o (i) =S e
() IS (v) wAs
it I :

(@ ) (© @
1 @ @ @ )
@ @) G @ @
Gy @ (@) (@)
4) @) @ @ @
Match the following :

Crop Main Variety
(a) Tomato (i) Konkan tara
(b} Brinjal (i} Kalikat
(c}) Ginger (iii) Manjari gota
(d} Bitter gourd (iv) Dhanashree

Answer options :

a)y (b () (d)
1 @ @ @ G
() vy (W) (@) (@
3) O vy @) (@)
@ ) O 6 )

FEAT HHEE ST /SPACE FOR ROUGH WORK
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51, Sl ol
pita iG]
(a) I @ Fo
(o) sl (M@ F&
(© ™ (i) TFGA
(d) &= fiv) frear
vt 3

(@ ® ( (@
d) ) @ @ )
2 @) @ @) @
@ v G @ @
(49 O @ (@) )
Match the following :

Crop Variety
{a) Jowar () Kailas
(b) Bajra () Shraddha
(c) Wheat (iit) Tekurpeta
(d) Turmaric (iv) Niva

Answer options :

@ (B () (d
@ (v @ H ()
(2) @ @ @) @
@) ) @ ) @©)
4 @O @ @@ GV

AT HIARTA S /SPACE FOR ROUGH WORK
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52. 2012 o5 THEETIL FAHY WHAE ET HAIE orml. GEe | Sien wwisiaie on $EA
FIUR ?

(1) F=ErEEm o s (2) AR st uheas

() FuEY T D (4) Fwau R

As per the 2012 population data, India is the second most populous country in the World.
Which countries from the following group rank 374 and 4% respectively ?

(1) Indonesia and Brazil (2) Indonesia and Pakistan

(3) US.A. and Brazil (4) US.A. and Indonesia

53. IV T I 2001 § 2011 A9 SSHEAH! 96 Fad FH P ?
(1) s, e, gl (2) wEE, e, fagim
(3) AISE, W@, T @) ¥@, M, A=
Which group of the states recorded the lowest growth in population during the period
2001 o 2011 ?
{1) Kerala, Goa, Haryana (2) Nagaland, Kerala, Mizoram
(3) Nagaland, Kerala, Goa (4) Kerala, Goa, Meghalaya

54, FH6U YSIMAY SRG T4 STF01 TR AqHIA SIS
(a) <« S 1 e
(b) Tfie AR Ww. 71 7.5 39l
(c) R TR fagror Hioun yHIvmER 8
qardr 39
(1) HF f9UF (a) SlET L.
2) fa9m (a) onfn (b) == aea.
(3) faum () aufor () e e,
@) 90 Ta faum iR oTee.
Because of heavy rainfall and high temperatures in Konkan region :

(a) The lateritic soils are found

(b) The pHof thesoilis 7to 7.5

{(c) The chemical weathering takes place on a large scale
Answer options :

(1) Only statement (a) is correct,

(2) Statement (a} and (b) are correct.

(3) Statement (b) and (c¢) are correct.

(4)  All the above statements are correct.

THeAT FAETS ST /SPACE FOR ROUGH WORK
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T
55. WPTHE T Tl wieRg e siarerdt o ?
1y Fwu (2) AW (3) d=vrm (4) F=im
Which of the following rivers is known as Lifeline of Kolhapur district ?
. (1) Krishna (2) Warna (3) Panchganga (4) Vedganga

56. SWIAHERIONY WS YRS 9 FEshd -
(a) TTEMET SfEad

(b) T A
(c) TaIfHeRaRy (FURON) Fraars Hegll
i I ,

(1) b @ 0 (2) (o) (a) (b) (3 (b} () (a) @) (o) (b), (@)
Arrange the following steps towards globalization in India in a chronological order :
(a) Convertibility of rupee
(b) Devaluation of rupee
{¢) Passing of patent (Amendment) Act
Answer options :

1) (), (a) () (2) (0, (a) (B) (3} (), (9 (3) 4 (© ®) @

— ——— —

57. Wt faumrer fa=m %1
(a) weaIad a% § Hel L 81 UL Welio w37
(b) & Hal wOit THe ozl 3T
(c) T SMSH FIAS TARISA Gra .
Tgidr I
(1) (a) Fd FUI AR 2) (b) B TS 3R
(3) (a) 3T (c) T R AR (4)  (b) M () Faa T
Consider the following statements :
(a) The proposed Goods and Service Tax (GST) is a national level tax.
(b) It is similar to the service tax.
{c) Tt provides for input tax credit.
Answer options :
(1)  (a) only is correct (2) (b) only is correct
{3) (a) and (c) only are correct (4) (b) and (c) only are correct

THEAT HMTEIE I /SPACE FOR ROUGH WORK
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58. WAS wedl el

e fasm W L]
(a) 3= fths 98 & wg 7 faem ) USHE
(b) 3= TS faE 9o aeeny wH IaH (i) HTB
(€) wan Afds 3 ure faes (i) dfvew Sme
(d) 3y nfis 7 7 R (v) TR

it IAT

@ @) (@ (@
1 @ @ Gv) (@)
@ @ @ (@) ()
3 @ @ @ @)
@ @ @ @ )
Match the following :

Human Development Level State
(a) High Economic Growth but low Human Development, (i) Rajasthan
(b) High Human Development but relatively lower income. (1) Kerala
(¢) Medium Economic and Human Development. (iii) West Bengal
(d) Low Economic and Human Development. (iv) Bihar

Answer options :

(@ ) () (@
1y @ @@ @) @
(2 @ @ @) (i)
G @ @ @ @)
@ ® @ @ @)

59. 1965 Hed anfvrandres ufed Frafg wiwan &3 vRaw 7 faFrol T .

(1) wEH (2) wisH

@) e (@ whE ol T

Asia’s first Export Processing Zone was set up at in 1965 in India.
(1) Cochin (2) Kandla

(3) Vishakhapatnam » (4) None of the above

e SHTHTHIS! W /SPACE FOR ROUGH WORK
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60. ¥U 9 ficgd T T a1 W Hureh Wafud smwea ?
(1) "@RY fadia gr (2) wEwtw w9
@) e - fraf (4) T 453 gadrw
Repo Rate and Reverse Repo Rate are related with

(1) Government’s Financial Policy  (2) Public Debt

(3) Import - Export {(4) Credit Policy of Reserve Bank
61, YRdEi® ufed fadiw anfdw &= 4 gF 7 9.

(1) Wiage - o (2) e - T

(3) = - ey, 4) e - S WRm

The first special Economic Zone in India was launched at

(1) Santacruz - Mumbai (2) Kandla - Gujarat

(3) Chennai- Tamil Nadu (4) Noida -~ Uttar. Pradesh

62. € IRre UsafdE Aol (2012 - 2017) ToF WY 3TRT :
(a) RS TS AT IR F T 8 TP U@L
() i TEET 25 Tt 1000 T @ o, |
(c) U yiauren A aaus wye Swiwta TR 9 Tas vdd arefau.
Tatt I
(1) (a) Fed S 0 (2)  (b) Fea SRS IR
(3) (a)d (b) HF I AT (4) 0o ad TR TR
These are the main targets of the Twelfth five year (2012 - 2017) plan :
(a) To attain real GDF growth rate of 8%.
(b) To reduce the infant mortality rate to 25 per 1000.

(¢) To increase investment in infrastructure upto 9% of GDP.

Answer options : _
(1) (a) only is correct (2) (b)only is correct
(3) (a) and {b) only are correct {4) All the above are correct

HoHT WIS W /SPACE FOR ROUGH WORK
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63. 2013-14 ¥ TS IATIa ScdIEAR Hal &= 5w T 3T gL,
(1) 262% (2) 454% (3) 54.1% 4) 59.9%
In 2013-14 the share of service sector in GDP was percent.
(1) 26.2% (2) 454% (3) 54.1% 4) 59.9%

64. GIOSIE! FHIVEH UL I L BT dgdt AR 2

(1) AT as (2) oTaE faE T

(3) T wEd (@) wd Tgd

Which of the following is not a method of estimating national income ?
(1) Output method (2) Import - Export method
(3) Income method {4) Expenditure method

—

65. TUS 2002 9% Tawresen TN wo s & fea anea -
(a) @ HarHA fESEIE S TR HT
(b) UHIftHE S HaTHH T fawh.
©) Soue T et Tai Seu.
(d) YIS I,
qqidt 3y
(1) (a) 30 (b) e IR 3T (2)  (c) 3 (d) e TR e
(@) (a), (b) 3 (d) F TR SR (4) Fo T R 3TRA
The National Water Policy adopted in April 2002 aims at :
(a) providing framework for water resource planning.
(b) integrated water resource development.
{¢) linking rivers from north to rivers in south.
(d) ground water management.
Answer opfions :

(1) (a) and (b} only are correct (2) (c) and (d) only are correct
(3) (@), (b) and (d) only are correct (4) All of these are correct

Hel IS AT /SPACE FOR ROUGH WORK
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66. 12 3 T=afie Fe TR F0d A € FHERE s e €A -
(1) <l gies fn segaifen (2) L wEa fEn
(3) <l anfdg gemform (4) ST U ToH

He was the Chairman of the Planning Commission of India when the Twelfth five year
plan was being prepared :

(1) Dr. Montek Singh Ahluwalia (2) Dr. Manmohan Singh

(3) Dr. Arvind Subramaniam (4)  Dr. Raghuram Rajan
67. T "R fadia wwiwmEn 96 snuifa IEm .
(1) 4e @M (2) e 3Em
(3) EIIEm (4) IR
is the second largest Agro-based Industry in India.
(1) Cotton Industry (2) Sugar Industry
(3) Tea Industry (4) Jute Industry

68. T 2005 X 2015 ITAF VAWM YW Foedl 9 faslt aanhia eia Iaten Har wie

(a) THITE (b) I

() famg : d oS
watedt o

(1) (@), ®), (), (@) 2 (@) (), ) (@
(3) (a) (9 (), ®) @) (2, 0) @, ©

Arrange the following sources of Foreign Direct Investment (FDI) in India in a descending
order for the period 2005 - 2015 :

(a) Mauritius (b) Japan

(c} Singapore (d) United Kingdom
Answer options :

(1) (a), (b, (). (d) (2} (@), (o), (b), (d)
(3 (@) (0 (@) (b) (4) (@), (b), (d), (9

ol HIATETST I /SPACE FOR ROUGH WORK
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69. HFM A FE<H gl FeAHER ‘aifdE fada uHe’ (Annual Financial
Statement) e ST
1) woh-74 Q) Fo- 112 (3) - 268 (4) F@H- 370
According to , annual financial statement is put before both the houses of
parliament.

(1} Section - 74 (2} Section-112  (3) Section - 268 (4} Section - 370

70. 12013 - 14 F Qi Frala ey om ¥ar whv yRdtd frafdde Eie awpe gewr sam
g :
(a) FN 9 HoH I
() @b
(c) wAR/Ffed o
(@ Ao e
(e) W
g I
@) @ ®)© @) e (2) (e} (d) (a) (&), (b)
G) (@, @), (b) (), (e) 4@ Q). (d) (b). {e). (a)

Arrange following components of Indian Export in descending order by considering export
composition for the year 2013 - 14 :

(a) Agriculture and allied products

(b) Minerals

(c) Manufactured goods

{d) Petroleum products

() Others

Answer options :

1) @, ®) () @ (e (2) (9 (d), (a), {e), ()
) @) (b). (0) (¢) 4) () (9 ®) (o) (@

Wl RIWTHTS W /SPACE FOR ROUGH WORK
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71. s F&m=n o a1,

(1) ST SO ST (2) EHRT= AMUERH
(3)  TRRI=AT STTIEN FHH! (4) = e T
The velocity of radio waves is

(1)  greater than the velocity of light (2) as that of the velocity of light

(3) less than the velocity of light {(4) none of the above

72, ITHMNAS IZUTH FAUHS TN B ?
(1) IR YBFomes AT
(2) ST wrerHTeA e o
(3) YRS TG Gee JTREHI0
(@) R e f

Rainbow in the sky is formed due to :

(1) Interference of sunlight due to dust particles.
(2) Diffraction of sunlight around raindrops.

(3) Dispersion of sunlight by raindrops.

{(4) Scattering of sunlight due to dust particles.

HeAT THITTES S /SPACE FOR ROUGH WORK
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73, fagq feomsd vt g fHiera age g wow s, w R ¢
(a) A U FEa AfFESYE B <d T,
(b) EIEA U= HEol BV AG N
() Tiftra o faqe 9 @ .
(d) kT el SSfIvEE e M.

qait Eﬁ:{' : ‘
(1) (a), (b) 3T (d) A AR (2) (b), (c) S (d) HA 3TTed
(3) e (b) T M (4) T (a) U MR

Mixture of chemically inactive gases is filled in the electric bulb, because of :
(a) it prevents the oxidation of tungsten metal filament.

(b) it enhances the melting point of tungsten metal filament.

(c) inert gases are available in abundance and cheap.

(d) it helps to enhance the intensity of light.

Answer options :

(1) (a), (b) and (d) are true (2) (b), (c) and (d) are true
(3) Only (b) is true (4) Only (a) is true

74. FORGSRIEEA (CFCs) ST 31l uad. Eeeis! R faum ai=neea g e ?
finstia €

(1) Tt sAfFanie, faafaad snfo Tivda s/,
(2) wIoF UM, EHTR YUIASRT S0 ST Harrst WATFRE U JI9e S
(

3)  HARET TS g, FH=A1 Sgorda g faee wreaan.
(4) SR HIOTE ATE

Chlorofluorocarbon (CFCs) compounds are called Freons. Which statement amongst the
following about them is incorrect ?

Freons are
(1) chemically unreactive, non-toxic and odourless.
(2) used as a solvent, aerosol propellants and blowing agents for plastic foam.

(3) broken-down in upper layer of the atmosphere by the powerful UV radiations emitted
by the sun.

(4) none of the above.

ol SHIAMTS AT /SPACE FOR ROUGH WORK
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75. T 1808 Wi v syt e foae o7 fagiaren iy oEe ?

(1) WA Seed (2) W AIEE
3) W I AfEEes (4) wgHIg
In 1808 which English school teacher proposed the Atomic theory ?
(1) John Dalton (2) Sir lsaac Newton
(3) Plato and Aristotle | (4) Leucippus
76. TorMIEe o DG FR THEE TR 7 oR.
(1) Fe, O, (2) Fe,Of (3) FeO(OH) (4) FeCO,

The chemical formula of the iron ore Limonite is

(1) Fe,0, (2) Fe,0, (3) FeO(OH) (4) FeCO,

77. ‘e fedis @ W1 Tm=AE: Fivrer e seesd! ?
(1) (2) =W (3) =R (4) foq

Tikka disease is one of the serious diseases commonliy found on :

(1) Groundnut {2) Tomato (3) Cotton {4) Lemon

78. ST SRS AYAE EA e HIVE ?
(1) oW (2) v (3) AAfmw - (4) v
Which of the following is micro element useful in plant growth ?

(1) Sulphur (2) Potassium {3) Magnesium (4) Zinc

FHeAT HIATEE F /SPACE FOR ROUGH WORK
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79. SHTIHN AL S (ME) %‘rmﬁwaﬂamaﬂ%a?
(1) iy, g suft S
(2) i, Fel (FTEA) 07 woEr
(3) Hmie, Fean suftr g
(4) I (F), TAZISA 0w

The framework elements of plants are :
(1) Magnesium, Copper and Iron

2) Copper, Carbon and Oxygen

3) Manganese, Calcium and Nitrogen

- (4) Carbon, Hydrogen and Oxygen

80. WG] hivTel Ol o5 T STaHf 379 ?

(1) Hee 2 e (3) 4@
Which one of the following fishes has asymmetric tail fin ? '
(1) Pomfret {2) Bombay duck (3) Shark 4)

81. ST & WvTama Hiedl RO
(1) @ Togm et
@) @ S W
(3) O 3 I qATY EIgHE YS FEA
(@) o IO WO AR

Whale is a mammal because :
(1) Itlives in water

(2) ltlayseggs

(3) 1t has a muscular diaphragm between thoracic and abdominal cavity

{4) Itis warm-blooded

HoT SHETETS WA /SPACE FOR ROUGH WORK
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82. WHHHFUIG THOTH HFE® gTSi (NEHeT) FH FeE 3, 37N YRl 72

(1) wyE, 74, do5d (2) TG, T, B9

(3) HoFH, VuH, THE (4) THE, THY, VUH

The sequence of ear ossicles in the middle ear, from outer to.inner side is as follows :
(1) Stapes, incus, malleus (2) Incus, malleus, stapes

(3) Malleus, stapes, incus (4) Malleus, incus, stapes

83. WIOIGYH! HIVEI TURGE SR X-TURIAMES Bt ?
(1) s (2) U IR
() S (4) STHEIR AR
Which is the X-linked chromosome disorder from amongst the following ?
(1) Goitre (2) Graves disease

(3) Colour blindness {4) Hashimoto disease

84. TS e v oEt wata guw feen s ?
1) fafafs + site dfesd + gderafoey &
(2) TATWHSR. + TEHES
@) TEwRe + fefefy.
¢4) fefafy + it dfesd + Tam.am
Which are the vaccines earliest given to a new born child ?
(1) B.CG. + Oral polio + Hepatitis B
() MMR. + Typhoid
(3) - Typhoid + D.T.P.
(4) D.T.P. + Oral polio + MM.R.

HoAl HINTETE FRT /SPACE FOR ROUGH WORK
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85. 31 TV W= Sieul & RIS i1 YT et e -

WY - & Wy -
(@) 3. wET @ < et oE
(b) TH3. AT (i) ool ow
(c) % == (i) TR SEHEET
(d) TR (v) TEHEEs
Tt Sy

@ ® () @
(1) @ ) @@ @
2) @ @) ) @
@ @) @ @) (1@
4 O @ @v) (@)

Match the scientists from Column - A with their discoveries from Column - B.

Column - A Column - B
(a) A. Fleming (i)  smallpox vaccine
(b) S.A. Waksman {(ii) anthrax vaccine
(c) E.Jenmer (iii) enzyme lysozyme
(d}) Pasteur {iv) streptomycin

Answer options :

@@ b ( (@
(1) @) @(v) @ (@)
() @ @) @) ()
B) (v) () (D) (i)
@ O W G ()

oAl HHTHS W /SPACE FOR ROUGH WORK
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86. FUHWrAl sladioa Ao FHEd Hafd HIOa el 9 foawia +m [ 30 T @
TEIOFHI GEE TR Fool . 1 T4 feaum@nd! T 250; 2 =0 feagmidt T 300; 3 =1 feaamandt
¥ 350 30 G ATIHM. S SHERA T 5500 T WS IS T AR A Foed faoa foag
.

(1) 9 @) 10 ¢) 11 @) 12

A contract related to cleaning of debris around construction work, specifies penalty in
completion of work beyond certain days as follows : ¥ 250 for 1% day; T 300 for 2™ day;
% 350 for the 34 day and so on. If the contractor pays a fine amount T 5500 then select the
number of days for which he has delayed the work.

1y 9 () 10 (3 11 (4) 12

87. ST (—) WU AW (+) FH, A (+) RO A (— ) F, TS (x ) TS HITHRR (+)
F F HATHR (=) TS TS (X ) WS T AOISTh] DU FHIEH axa 1R ?

(1) 30+5-4+10x5=238 (2) 30+5+4-10%5=23
(3) 30-4+4+10x5=62 (4) 30x5-4+10+5=20

If substraction (—) means addition (+), addition (+) means substraction (—),
multiplication (%) means division (+) and division (+} means multiplication (X) then
which of the following equations is correct ?

(1) 30+5-4+10x5=38 (2 304+5+44-10x5=23

(3) 30-4+4+10x5=62 (4) 30x5-4=10+5=20

. el SIS WA /SPACE FOR ROUGH WORK

P.T.O.
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88. WEilel STl fhat AT T e ?

(1

My

15 @ 20 (@) 25 (4) 30

In the figure shown below how many different triangles are there ?

1

15 2 20 @) 25 4) 30

89, TR Wigviie WeAfa-eas! adl 7 o Wy fHaer.

[P} [NE] |CQ]

K] (70 [FA]

o1 8] [7]

1)

LF (2) HM 3) GK 4y H

Select the option that cannot replace the question mark in the following arrangement.

P]

[NE] [<Q]

|KL| |RD| |PA|

Ol

[Bs] [ 2]

(1)

LF (2) HM 3) GK 4) HJ

=T SHTHTEIST SR /SPACE FOR ROUGH WORK



A 43 vO7

90, W Weue 3 A e 5 Aag @ 96, W 7 9L A a0 oo, o faeh g aewe
HaraR § 9% TEad e | & Tl 9@ o) 2

(1) 4:05PM. (2) 4:00P.M.
(3) 3:45PM. (4) 4:10P.M.

A watch which gains 5 seconds in 3 min, was set right at 7 : 00 am. In the afternoon of
the same day, when the watch indicated quarter past 4 O'clock the true time is :

(1) 4:05PM. . (2) 4:00PM.
(3) 3:45PM. 4) 4:10 P.M.

91. Tl SR Wiaw Hepte Rema srwret adETa i e

0101
G10L@
o O

@ @) O @) 7\ @) O

Select a logical option for the empty place in the left hand set of images.

00C
COG
O O

® 2) O ONE (4) O

ool SRTHTETS W /SPACE FOR ROUGH WORK

C

P.T.O.
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92.

44 A

T T fAhIo SRd. I o e Med. R | o St oA § fauE
(1) e v I ,
(2) e s o,
(3) @A W g9

(4) o w4 9 e

All spheres are triangles, some triangles are rectangles. Therefore the statement all the
spheres are rectangles is :

(1) Always true

(2) Always false

(3) Cannot be said definitely
(4) All above are true

93.

ere Wi, SR o= sliedian atef ‘green alliance formed’ 371 31, HHedl A= 314 ‘join
clean alliance’, Te8r=1 3iedi= 31 ‘green clean peace’ 3791 318, W = e fag Frefia
F e TR e

(1) Green (2) Clean (3) Peace {4) Alliance

In the image below, if upper row of symbols means ‘green alliance formed’, middle row of
symbols means ‘join clean alliance’, bottom row of symbols means ‘green clean peace’,
then select the word that is represented by the symbol that is placed separately.

(1) Green (2) Clean (3) Peace (4) Alliance

ol RIFMES! SFT /SPACE FOR ROUGH WORK
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94. 1200 GG =T FEfted (B), fhde (O), T (1) 71 Banle arfasis wdgums freed
Rlo gl S ITRd, 1 STHdasd I 9 THoedl Gergdl dsfier™ a7 9o
WAES U F1F AR ?

B % C
T
(1) 7:6 2 6:7 (3) 5:6 (4) 6:5
A result of a survey of 1200 players with respect to their knowledge of Badminton

(B), Cricket (C) and tennis (T) is given below. What is the ratio of players who lack
knowledge of badminton to those who lack knowledge of tennis ?

o (o0 (10 200
=
T
1 7:6 @) 6:7 . 3) 5:6 4) 6:5

95. eegE! TAENITS Yedow faare TUEl 69 3T, S M 17 el fawaid yedeRt 10 T St o
TIVTEI 6 7701 Wl THeseres 3T T el QUgd 72 T e, e T08a fordt T amen @
LIRS
(1) Tt Qe T wRen w4 Tovaret mivd 3t e,

(2) 10
B) 11
@ 12

Nallu’s average score per subject in the examination is 69. Had he secured 10 more marks
in each of the three languages and 6 more marks in mathematics his average would have
been 72 per subject. Select the option that indicates the number of subjects that Nallu
appeared for, in this examination.

(1) Data is not sufficient as information about only 4 subjects is given,

2) 10

@) 11

@) 12

HeAT MM AR /SPACE FOR ROUGH WORK

P.T.O.
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96. TeRl Hichiaes WINd MONDAY % 7158 PRQGDB 3191 fofeen S, ot & Tidios 9ia TUESDAY

Bl g &y foms ?
(1) WXHVGDB (2) WXHVDDB
(3) WYHVGDB (4) WXHUGDB

In a code language MONDAY is written as PRQGDB, then in this language how will you
write TUESDAY ?

(1) WXHVGDB (2) WXHVDDB
(3) WYHVGDB (4) WXHUGDB

97. w1 fa=gr=n ST 9 g ofa W

20022] 5
1811019
9115] ?

(1) 23 @) 27 3) 5 @) 21

Replace the question mark correctly.

20122 5
1811019
9115| 7

1) 23 (2) 27 3) 5 4) 21

98. P,Q,R,S5aT I RIS A JRd. T Uk Yiashdl, UF qaa radrae o UE faee 8. I
P& S 91 Afaaifeq ot =raam &t Y. Andis T & JHeal SISWris 9930 3%, R 8 P =1 9T
YA T FAH A q I AT L. T ATS DIV g e R 2

1 R ) Q
3 T (a) s wifedt sTovas =g

P, Q R,Sand T are persons in a group. There is a farmer, a freelancer and a teacher in the
group. P and S are unmarried girls who don’t work. Of the married couple in the group
T is the husband. R is the brother of P and is neither a farmer nor a freelancer. Who is the

teacher ?
1 R @ Q
3) T (4) More information is needed

HoAT SHIFMAETE AT /SPACE FOR ROUGH WORK
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L

99, WY fererear St oK T 4TS ?

36 42 27
56.7 96@12 20@2
6 6 3
1)y 19 {2y 13 (3) 16 4) 18

What number should replace the question mark ?

36 42 27
56. 7 96@ 12 20@2
6 6 3

(1) 19 2 13 3 16 . 4) 18

100. & IufqaEl S1ITR 39 YT Jar= M99 8. SR G- S99 59 gere adr fawe 2Ee. ot
forett auit STare 33 O TS TR BEE ?

(1) 4038 (2 2438 (3) 163§ (4) 3699
Before 6 years father's age was five times that of the son. After four years father’s age will

be three times that of the son. After how many years father s age will be twice that of the
son ?

(1) 40 years (2) 24 years (3) 16 years | (4) 36 years

-000-

el SIS S /SPACE FOR ROUGH WORK

P.T.O.
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48 A

AT — (7% 1 o6 TR, )

®) TvgrEERa fafea Sowar fafte Srie = & (I 9) 6. TyRasafoie swaiahal a1
TR FICE ® HIW Hedd o HA HOA RIW S IR, S TS TET I ATER IHTNH
TEAH A e adermed S TR dfaey svamEan stfufam-82" arie WagTa FRaE
FI09 e A SN el HHIS Uk A9eA] ShrarEre A/ fEal w93 w seR e dere o
T BT,

(9) W YHETTFRE S fafed FoH I8 FUgHM SHRORS & FHEH! Wa:s6 TR
U UG WA R, AT TR STaTE ATUATdE] SHEaTU HTYedT STiAhar HI-1
ATAgeRTRS T TauEr wa O SEyas e

9. . 201,

9. . 201.

TR
Y=t o1e T OIS il gow: W 6 ?
(1) @ TEEE wEEd 2 SEtEg
@) T THEEE (@ TS MEe

& T I I (3) TS UEEies 197 IR AR, | I TN SW ' (3)' 5o, arad
WIS T %, 201 TGS SW-A C(3) " ¥ af® Tivn et w1 b
AT A

ONCN NCO

ST TG Teqd THAGRaFe s Y9arE] qud1 SaGRaiE o TRTe Waadia qiase
T ARG ® & TFHIHHHS G6d age TUU% SEifed &1 SRaaEl.  grastn
Thad shicedl IS ST 9TqUd, e a1 e 99 ave .

hesAT SHTATETS! S /SPACE FOR ROUGH WORK




